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Review Handout
Graph the quadratic function or inequality.
1.) y = x2 + 4x + 3  





2.) y > -2x2 + x + 3 
1a.)Find the axis of symmetry



2a.) Find the axis of symmetry

1b.)Find the vertex





2b.) Find the vertex

1c.) Find the y-intercept




2c.) Find the y-intercept

1d.) Find the x-intercepts




2d.) Find the x-intercepts
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Solve using any method. Explain your reasoning for choosing that method. 
3.) 2x2 = 64





4.) x2 + 8x = -15
5.) 2x2 – 9x = 221




6.) 6w2 – 72 = 0

7.) 3r2 + 16r = -5 




8.) 2x2 – 5x = x2 – 8x + 4
Solve by completing the square. 

9.) x2 - 6x + 3 = 0
For problems #10-11, use the equation: h(t) = -16t2 + v0t + h0 and round your answers to the nearest hundredth. 
10.) Collin threw his Spanish book from an initial height of 5 feet with an upward velocity of 38 feet per second. Use the equation: h(t) = -16t2 + 38t + 5. 

10a.) What is the maximum height that the ball reaches?

10b.) After how many seconds does the Spanish book reach it’s maximum height?

11.) Andrea decides to throw a ball in the air. The ball is 6 feet high when it leaves her hand and she throws it with a velocity of 20 ft/sec. 


11a.) Write an equation to model the situation. 

11b.) What is the maximum height the ball reaches?


11c.) How long does it take for the ball to hit the ground?

12.) Mary is standing on top of a 35 foot building. She decides to throw her math book off of the building with an upward velocity of 30 feet/sec. 

12a.) Write an equation to model the situation.

12b.) What is the maximum height the ball reaches? How long does it take the book to reach this height?
12c.) How long does it take for the ball to hit the ground?
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1a.) x = -2
1b.) (-2, -1)

1c.) 3

1d.) x = -3, -1
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2a.) x = 
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2b.) (
[image: image2.wmf]4

1

 , 
[image: image3.wmf]8

1

3

)

2c.) 3

2d.) x = -1, 1.5


3.) Square Roots because b = 0; x = 
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4.) Factoring, because the trinomial is factorable; x = -5, -3

5.) Quadratic Formula, because a is not equal to 1; x = 13, -8.5

6.) Square Roots because b = 0; x = 
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7.) Factoring or Quadratic Formula, x = -5 and -1/3 
8.) Factoring, because the trinomial is factorable; x = 1, -4

9.) x = 
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10a.) Find the VERTEX!! About 27.56 feet

10b.) about 1.19 seconds

11a.) h(t) = -16t2 + 20t + 6

11b.) about 12.25 feet (VERTEX)

11c.) 1.5 seconds (Quad Form)
12a.) h(t) = -16t2 + 30t + 35



12b.) The max height is about 49.06 feet and the ball reaches this height after about 0.94 seconds.

12c.) 2.6 seconds about 2.7
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